
Problem 2.4 A 
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Factored Form ! = #(# − 6)   

Expanded Form  ! = 16 − #! ! = #! + 6# + 9 

y-intercept    

x-intercept(s)    

Min/Max    

Line of Symmetry    

Opens Up/Down    

 

4 14XC4 x 4 1 3

Y x2 6X
0,0 0,16 0,9

0,0 6,0 4,0 4,0 C 3,0
Min 3 9 Max 0,16 Min 3,0
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Factored Form   ! = (3 − #)(2 + #) 

Expanded Form ! = #! + 9# + 20 ! = #! + 5# − 14  

y-intercept    

x-intercept(s)    

Min/Max    

Line of Symmetry    

Opens Up/Down    
 
 

y 1 471 5 y x1771 2

y x21 6

0,20 O 14 0,6
C5,0 C4,0 7,0 2,0 2,0 3,0
Min 45 0.25 Min 2.5 20.25 Max 0.5 6.25

x 4.5 X 2.5

UP Up joins


